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¥ Question Completion Status:
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Question 2 2 points  Save Answer

What is the output of the following code?

X =1
a =1
b = -5
if a > ©:
if b > o:
X =X + 4
else:
X =X + 3
else:
X = X + 2
print(x)
(Al
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Remaining Time: D minutes, 33 seconds.

¥ Question Completion Status:

/\ Moving to another question will save this response. Question 1 of 5 >

Question 1 ‘EE points -1

An input to a Python program that expects positive input such as Yes, yes, YES, YeS§, yES, yEs, etc. to terminate the program ( showing Quit on the screen),

userinput = input(’'If you want to quit type Yes:')

Can be validated as follows:

_ if userinput.lower() == "YES":
Y print("Quit")
if userinput.lower() == "yes":

@ print('Quit"

~ if userinput.lower() != "yes"

O print('Quit")
if userinput == "yes' and userinput == "YES"
~ print("Quit")
/\ Moving to another question will save this response. Question 1 of 5 >
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¥ Question Completion Status:

Question 3 2 points  Save Answer

What is the output of the below code?

a = 4

ch = str(a)

ch = ch.upper()

if len(ch) == 0 or len(ch) > 1

print("That input didn't have a valid length.")
elif ch in "AEIOU" :

print("Vowel")
elif ch >= "A" and ch <= "Z"

print("Consonant")

else
print("That was neither a vowel nor a consonant.")
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Remaining Time: 3 minutes, 94 seconds.

1F Ien(ch) ==09 or len(ch) > 1 :
print("That input didn't have a valid length.")
elif ch in "AEIOU" :
print("Vowel")
elif ch >= "A" and ch <= "Z"
print("Consonant")
else
print("That was neither a vowel nor a consonant.")

That input didn't have a valid Iengl‘h‘

=
'-.!..-'

—~ Vowel.

Consonant.

O That was neither a vowel nor a consonant.
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¢ Question Completion Status:

/\ Moving to another question will save this response. «|l¢ lQuestion 4 of 5| »

Question 4 2 points = Save Answer

Find the errors in the following if statement
letterGrade = "F"
if grade == 90 :
letterGrade = "A"
if grade == 380 :
letterGrade = "B"
if grade == 70 :
letterGrade = "C"
if grade == 60 :
letterGrade = "D"

~, There is nothing wrong with the above statement.

—~ F'should not be string it should be converted to integer

letterGrade should be float

O Statement is using if through out instead of elif. Answer will be D for grade above 60.

/\ Moving to another question will save this response. « < 'Questiond of 5/ >
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¥ Question Completion Status:

/4 Click Submit to complete this assessment. « < Question 5 of 5

Question 5 2 points  Save Answer

Assuming a user enters 10, 20, and 30 as the input, what is the output of the following code snippet?

nl = int(input("Enter a number: "))

n2 = int(input("Enter a number: "))

n3 = int(input("Enter a number: "))

if not (nl > n2 and nl > n3):
print(nl)

elif not (n2 > nl and n2 > n3):
print(n2)

elif not (n3 > nl and n3 > n2):
print(n3)

~ 30

~ 20

O 10

~ No Output
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